
 

 

Εικοσάλεπτη δοκιμασία στις εξισώσεις 

ΟΝΟΜ/ΜΟ  ΜΑΘΗΤΗ:…………………………………………………………… 

ΗΜΕΡΟΜΗΝΙΑ:   4 – 3 - 2020 

ΤΜΗΜΑ:  Α1                                          (Α)           

 

Να λυθούν οι παρακάτω εξισώσεις :  

1.  α)  |2x + 3| = 7          β)   
3|x|−1

2
+

2|x|−3

3
=

|x|−1

6
                        (3 + 4 = 7 μονάδες) 

2.  α)  6x2 – x – 1 = 0     β)   4x2 – 4x – 1 = x – 2                                           (4 + 4 = 8 μονάδες) 

3.  x2 - 13 x + 36 = 0                                                                                          (5 μονάδες) 

    ΚΑΛΗ  ΤΥΧΗ !!! 
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Εικοσάλεπτη δοκιμασία στις εξισώσεις 

ΟΝΟΜ/ΜΟ  ΜΑΘΗΤΗ:…………………………………………………………… 

ΗΜΕΡΟΜΗΝΙΑ:   4 – 3 - 2020 

ΤΜΗΜΑ:  Α1                                          (B)        

    
Να λυθούν οι παρακάτω εξισώσεις :  

1.  α)  |2x - 5| = 7          β)   
2|x|−3

2
+

3|x|−1

3
=

|x|−1

6
                           (3 + 4 = 7 μονάδες) 

2.  α)  9x2 – 9x + 2 = 0     β)   3x2 – 2x + 1 = 6x + 4                                          (4 + 4 = 8 μονάδες)            

3.  x2 - 12 x + 27 = 0                                                                                            (5 μονάδες) 

    ΚΑΛΗ  ΤΥΧΗ !!! 

 

ΒΑΘΜΟΣ 
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